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10. What are the four components of time series?
Estimate the trend line from the following data.
Year: 1990 1991 1992 1993 1994 1995 1996

Production: 60 72 75 65 80 85 95

(in tons)
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B;ITQ)~Qp>ITLITQJJf1~6t6)Qr P;ITQr~ lJ~B;6iT UJIT~QJ?

£~6;B;IT~LD 46iTm\ 6151QJIJr&JB;m\6\S}@.ffi~P;~LB;ITQ)U aUIT6;@)6;

aB;ITL..~LU QUg)lB;.

~~(1): 1990 1991

:LWU~~ 60 72

(LQrB;m\Gb):

11. Describe the method adopted in the measurement
of National Income of India. What are the major
difficulties encountered in such measurement?
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1992 1993 1994 1995 1996

75 65 80 85 95
Time: 3 hours Maximum marks: 75

SECTION A- (3 x 5=15 marks)

Answer any THREE questions.

~.ffi~UJ P;ITL..(9 QJ@LDITm~~p>6; B;6UM6;£1(9QJP>W@)u

uUJQru(9~p>UUL..(9 QJ@LD (!:P~ID~UJ 615161T6;@)B;. ~.ffip>6;

B;6UM6;£L..Lq-QraUIT~ 6r~1T ap;IT6;B;uu(9LD l.Sl1J66~mB;6iT UJIT~QJ?

12. Explain the classification of data using examples.
What are the advantages of classification of data?

4Wm\ 6151QJIJri.JB;~6IT QJ~B;UU(9~~LD (!:P~ID.$~6IT

6r(9~~6;B;ITL..(9B;~LQr 61516IT6;@)B;, 46iTm\ 6151QJ1Jri.JB;~6IT

QJ~B;UU(9~~p>6\S}Qr P;Qr~LDB;6iT UJIT~QJ?

1. What do you understand by primary data? Explain
anyone method of getting it.

(!:Pp>m1~Q) U 46iTm\ 6151QJ 1Jr&JB;6iTU Wn5IUJ :LID~ 61516IT6;B; LD

p>@B;, ~p>~mu QU1))JQJP>W@)Jf1UJGJap>WlLD ~@ (!:P~ID~UJ
61516IT 6;@)B;,

2. What are sampling errors? Mention its types. Can
sampling errors be avoided completely.

8il.GID(1)u4U t.5I~WB;6iT 6rQrIDITGb 6rQrm? ~QJ!Dn5IQr

QJ~B;B;~6IT6; 8il.1))JB;, ~Ul.Sl~WB;~6IT P;ITLD (!:P!DI61~LDITB;~ ~6151IT6;B;

~UJ~LDIT?
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s;rrQ)~ ~@U4a= a8'rr~-Q)m GfEiirr/Drr6i>GfEiirrm? Q)rr6iuulUrflm

~l61lDL.QL6IiIn" ~a=a8'rr~Q)mQ)lUU \d>IT~~ Q8'uJ.$I/D~rr Gfml!)J
s;rr6liln"s;.

(

(~) 8i1.L.~a= 8'lJrr8'rfIc!i;~~Q)c!i;s;EWTlb~@S;. 8i1.L.G'a=
8'lJrr8'rfII61Eiirr Q:Pc!i;.$IlU ~EiirrQ)LDS;Q)6fTc!i; 8i1.1!)JS;.

(~) £a~ ~Gir6fT 61S1QJlJrfus;~c!i;@j 8i1.L.G'a= 8'lJrr8'rfI
s;6Wf1c!i;s;Qj Lb.

LD~uQumBim: 0-10 10-20 20-30 30-40 40-50 50-60

3. What is time reversal test? Find whether
Laspeyre's index satisfies this test.

4. Write a short note on cartograms..
LDITIim6!.JITBim1m

6rm~8;mBi : 5 10 25 30 20 10

S;rrITL.aLrr.$IlJrrLbs;Giruwl61 ~@ 6I1!)J @jl61u4 QJQ)IJS;.
7. Describe the merits and demerits of various

measures of dispersion.

u6i>aQJI!)J 6I~/D6i> ~6fTQ)QJs;6lflEiirr ~lJrr~1J ~Q)/D~Q)/Ds;Q)6fT

61S1QJ rfIc!i;s;Qj Lb.

5. Define skewness. What are its types? Explain
graphically.

Answer any FOUR questions.

8. Describe stratified random sampling technique.
What are its merits and demerits?

urr~uG'p;~UUL.L IJrr6liln"LLb LDrr~rfI Q:PQ)/DQ')lU

61S1QJrflc!i;s;QjLb.~LbQ:PQ)/DuS1m~Q)/Ds;~Lb @jQ)/Ds;~Lb lUrrQ)QJ?

9. Obtain the two lines of regression from the
following data:

as;rrL.LI.D - ~Q)c!i;s;6aMLb~@s;. as;rrLL~~Eiirr QJQ)s;s;Gir

lUrrQ')QJ? QJQ')IJULLD (y>Q)Lb 61S16fTc!i;~s;.

SECTION B - (4 x 15=60 marks)

6. (a) Define Arithmetic Mean. Mention the
important properties ofArithmetic Mean.

X: 4 5 6 8 11.

Y: 12 10 8 7 5
(b) Compute

following data.
Arithmetic Mean from. the

£~c!i;s;rr~ Lb 61S1QJIJrfus;6IfI61S)@.ffi§J

as;rr~s;Q)6fTlLjLb s;rr6liln"s;.

~@ QIJc!i;QIJ~m

Marks: 0-1010-20 20-30 30-40 40-50 50-60
X: 4 5 6 8 11

No. of students: 5 10 25 30 20 10
Y : 12 10 8 7 5

2 2437 3 2437

H
ow
To
Ex
am
.co
m

Click to download similar question papers from www.howtoexam.com just for free

http://www.howtoexam.com

http://www.howtoexam.com

